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Instructions ViHH :

Section A is a vocabulary test A #1543 aVE A
e No glossary is to be used A~ AJ fif F A/ &
e No Calculator is to be used AN A i FH 1157 8%
e Please answer the questions in the boxes below. 1% £ I [l 5 HE LA 5 & &%
PESYIN

e Each question is worth 1 mark. %5 —4}
e This section will be collected in after 10 minutes. 10 758 J5 3570 3 145w Wi ] o

Do not turn over until instructed to do so.
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NAME:

1. Two opposite sides in a rectangle are

2. The sum of the square root of 36 and the cube of 3 is

3. A number which has only two factors is called a

4. A square has a perimeter of 28cm, the area is

5. Find the mean of 4,7,8,9,10,12,13.

6. There are 24 boys and 40 girls in a class. Write this as a ratio in its simplest form.

7. The obtuse angle in an isosceles triangle is 130°. What is the size of the acute angle?

8. Write down four factors of 60

9. In a bag there are 4 red balls and 8 green balls. | choose a ball at random. What is the

probability that the ball is green.

10. Lines which cross at 90° are

No. | Answer Marks No. | Answer Marks

1 PARALLEL 1 6 3:5 1

2 33 1 7 25° 1

3 Prime (number) 1 8 Any four from 1
1,2,3,4,5,6,10,12
15,20,30,60

4 | 49 cm? 1 9 |2/3 1

5 9 1 10 | PERPENDICULAR 1




Section B Answers

3.85

(-7,16) (-4/3, 25/9)
3,4

3y+x-5=0

7/12 =0.5833...

45 m?

-0.745 or — \/3—3

3.0558
9.165
14

13

15

80

18

9

Section C

Method 1
‘We start by using ‘angles on a straight line add up to 180°” to mark on the dia;
supplementary angles.

Now we know two of the interior angles in the shaded triangle, and hence can
exterior angle of a triangle is the sum of the two interior opposite angles’ to ot
a=(180-p)+(180-g)=360-p—-gq.

‘We now have expressions for two of the interior angles of the triangle shown ¢
the next figure.

Therefore, once again using “an exterior angle of a triangle is the sum of the two
opposite angles’, we obtain
s = (360 —p-q) + (180 - ),

which we may rearrange to give p + g + r + 5 = 540,

Method 2

We start by using “an exterior angle of a triangle is the sum of the two interior ¢
angles in the two triangles shown shaded in the following figure.

Weobtains = s + ssandp = p + po.
Now we notice that we have a pair of angles together at each of three points, so
“angles on a straight line add up to 180" three times to get
p1+q = 180
r+ s = 180
and P+ 5 = 180.

Adding these three results together, we obtainp; + ¢ + r + 51 + p2 + 53 =
which it follows thatp + ¢ + » + 5 = 540
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Answers to all questions

Section A 16. A
17. B
1. Electrons 18. B
2. Reflected 19. D
3. Scalar 20. C
4. Magnetic 21. A
5. Voltmeter 22. A
6. Newtons
7. Refracted Section C
8. Ammeter
9. Nucleus 23. A
10. Gravity 24. C
25. A
Section B 26. D
27. B
11. D 28. C
12. C 29. D
13. D 30. A
14. B
15. A



